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EEE@
::Frm :ﬁ'ﬁv
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“fiﬂlm!n
i, ﬁmhsmnﬂm
A) wgy m‘fﬁg
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%tﬁ! o e
M]“‘Nﬂumﬁm
iﬂ}mnﬁm
IC) o
lﬂmﬂﬂﬁi'ﬂﬂ
9, Hﬁgﬁﬁmﬁmqﬁm '?f*rﬁwnur-r-l
L3 ﬂmﬂm-mt?gﬂh

A} #am fiah @

A 8 368
B) #. s dp U 369
IC) Wam 1 um 364

eI ® um 367

____iﬁiﬁ;

3) 304, st
(B) Hat & ofeay
(D) Wi 3t g

6. 1990 # 51 zatom 40 v sy
15 Wi e # & wwen a7
() Fergarrm .
(C) Fmafn (D) Wi

ST w7
_ 4 vgfi wed
T ﬁm AT (B =

Dow dp 3rRimrom Www_m|mpter.0ﬂ”f{_ ‘



B 7 men can complete . y
r'f Lfnll-w:! How many ﬂd:“f;x :;::; 10. 3t w31 12 A wawa ¥ 8 i
Biaye s | COMPlcte double the work i /A B ﬁﬂm  fem for sifafes ol 0
(A} 14 Suaant
() 25 ['E: :1 *g' ” 1) 21 2
I, whjchm . (C) 28 D) 7 P
e capital of .
j L1FﬁdB_I; ’ Mamﬂ H mmﬁ:mmmmt? %
) Vi (A) faeem G
l{:l “‘tﬂl‘lﬂga_ra fB] Mathura I {B] q’q{[ \lf,.'
B wy FaRasi (D) Kausambi (C) Arorehy D) Wb
h of the followin ; Sorosis | 12. P dden- -
Emmtn h{;t}ﬂ;wngaacxampicfw " mmﬂ{%‘ﬁl}ﬂmt?
e
(B) Pear (B} ey
1 :::m : o) e = ) w2y
<h of the following is the United Ne™S | 13 %ﬁim—mm :
?:Wagencyrurﬂmm? Ferdreiepa waten 4 7 hm"‘imﬁ
% World Health Organization (VO A) T ez sy (S 53
[ :mt“rfur Disease Control (C0C) ﬁ = ﬁﬂﬁim (m'ﬁm }
D d and Drug Administratior ™" © “"‘“%“ﬂmﬂ )
| ot s LR T AT
-1 % { T F Ay i ;]
P =y - '3;@ Y i1
* ‘ y L
t : G s (:, 1 igi" \A\L’{] e : TL{“
: Downlq’&deﬁbm wiwld&Ichgpter.com
; \ . Ve 16

spO0L stands for

@A symmetric Periphera] OPﬂmti;

B) Simultaneous Periph 4
Phera] ﬂ?tugf:‘h

{On-Line
(C) Svmmetric Peripherg] Oper,
ral Slh“ Ony,
Pehﬁonh"*

(D) Simultaneous Periphe
Off-Lane

Consider the following Statem
Ayushman Bharat Yojang,

1. Ayushman Bharat Yojana, gy,
known as the Pradhan Manty
Jan Arogya Yojang (PMJAY),

15 a scheme that ﬂjmatl}l‘mlp
economically vialnerable Indiang
who need healthcare facility,

Il The scheme provides Rg, 5 lakh
r.mr::rage Lo every family Per vear

(4} Only the statement J] jg mm-
i) Only the statement | jg correct
(€} Buth the statements |

. and Il are correct
(D} None of the above

(B) Wt fvpre it Wi~
(©) R wftieer sxivam wira- e
O) Freweiefram Ueier i -

O R s s 3wt Freefan w6 T
foem iy |
1. IR v dae 41 g A
T (0.0 3 ) oft a8, s w9 A
F TR o e e e @
T TwTe gi 6 sawE ¢
H. 3 el wiam 93 et . 5 0@ FR
W e R

(A) ¥t wew lwgre

N
(B) ¥ iy & e
(C) SEATNE 11 2t s 2 it
(D)3 & v
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@E putton to find the first 1% e oeen sfEE A w e W
E n-k = e+ dﬂtﬂ “I%‘iﬁ
14. L'_l_l.mmmc of the Find What : (B) wI§S Jqiz
B - (8) A) Frg-s Jraae 32
A Find M-l (D) None of the above IC) wigee enee (D) T el
opoud Las
(chE s used to create | 15 o o a7 ST U SR e
4i]-Merge ——= =)
15. 1 Mf:i for & group mailing. . ¥ o wd Y & o Erer B By
addre (B) Envelopes (A) s (B) uAerH (1
A) Directory et
5 2 (D) Labels (C) e (D) S&es 5
() Leie -
. introduced in China in 16, fag anfdmgun_ Aem gé
forms were introc 8 B) 1978
16. T;r"[[m<;1 (B) ’:17"5 (A) 199 (B)
17. The total number of :‘iilidt‘.::.‘.llls sru.:i};ingt;'ll 17. U Tt 1 q@ ATel 9Tl ol gel §Ear 103961“@
Gl e 10396. The ratio O # :
ilu::njl:-.:rlln;iflﬂs to the total number of boys mﬁlﬁ‘ﬁl:ﬁ?ﬁ?ﬁﬁ i &1 I FEE
:mr}v.-m,,r in the school is 52 : E:l rcspr:cthwcl;r- FIUETE A 52 - 61 2 |@ﬁwmw
What is the total number of girls studying in L SF S Ee—
the school 2
(A} 5216 (B) 5612 (A) 5216, (B) 5612
E (C] 4874 (D) 4784 (C) 4874 (D) 4784
18. The second largesty country in the world in 18. w o o wawﬁm ﬂq—'ﬂl??
4feds 1% @*
(4) USA (B) Canada __. 3 iwmw (B) ==t
I€) Russia (D} China E‘-‘I%& iC) &= (D) =7
i1 '3- n g N
. ; & | r‘d“ o - ":E' n i=
19. He7j, m71Q, V73b, 179Q, 7 ‘P H67j, m710, V73b, i790, ?
) z83J (B) A87b s i S
; . (A) 2z83J B) A87b
(C) y831 H-}j 233_1! X [ (B)
0. The police has g hj ;
; ierarchical struc
:hf 1!-‘ﬂ!i!llr:i: constable and the Fur a: -
) Deputy g ©f the organis o
i ;
{ Ins.-P,_.zuruh “Mntendent of Police
(€ Super;
) Direcgoy et Of Police
21, Which neral of Poljce
""ﬂ*ﬁt:r e rﬁ"“"iﬂg Commi
; ted Mittes was

in th to : i
£ E’_‘-"untry ?Ct'p-gnulg D‘E’tﬂl Pﬂ:v‘men - al.

Urjit p
B) Nang. 2t€! Copnyp,:
ekanj

22. T Fah h I gHrdaf &

’

A




—rhzarﬂﬂ"’"t Ofcﬂrbﬂﬂ fixation a .

B -biﬂﬁP Ere annually thmugh%
in O gsynthesis is Proces
(Bl 4x 10=

I_U] 4 % lnl‘kg

[l
o5t peak of Peninsular
B Plateayjy
) Anaimug;

The
» A I}Ddabr:lta
(D) Mull
ayyanagi

(c mﬂahonda

5 Jyearns a pmﬁt of 12% on
3 book &l 10% discount on the Primu:l“ 3
The ratio of the cost price and the Price.

g price of the hook 15 printed

= B
L

L
=

(B) 45:51

50
B0 49 56 (D) 47:51
rocess, the oxidation of

|n the wacker P
is catalysed by PdCL

I gthynt o
(Al Ethene (B) Ethanone
() gthanol (D) Ethanal
g7, Dunng settlement process, the transaction
funds are deposited into your primary bank
geeount with hours.
(4} 5 hours
2 hours

More than 48 hours
(D) 24 to 48 hours
% Which of the following is & most I

(8]
(] Alien species jnvasion
(D) Over-exploitation

: uudw&[ﬁh

8. InHaryana,
Institute (IARI) Regional centre

(A) Karnal (Bl
(C) Hisar () Rob®*

0. Complete the serics:

19, 23, 26, 30, 33, ?
A) 39 @ 37
©) 31 o ¥

1l Who wrote 'Sagarﬂlapmk""' .
(4] Annie Besant
B) Rejaram Mohan
(C) Swami Vive

m‘hymandﬂsamﬂ‘“ﬁ ,1L

i

W

r1_'| | Q’f\\
- \ﬂfj,f Do%d o l‘
Ve e , ?ﬁ om www.cci€napter.com

o ¥

10 S 0 T Yy )
w9 T 2 & T
) cmms - 5°
= mﬁmﬁm%mm%mﬁ*ﬁg
arieer 1 cosyn il et B A
(A) 4 x 10" ke @) 4x 107
(D} 4 % (0 KB

(C) &= 10 ke

Pea—
(A) Srerag () A
= ) T
@' Hgﬁnznmgmﬁm‘sg&aqﬁmwﬁi-ﬁ "
T W 1 2% M mﬂﬂm%ngﬁﬁ“‘ =
Jha’l?ﬁwaaaxgwmw%?
(A) 47 : 56 (B 45 .51
(C) 45 : 56 (D) 47 51
e

26. ﬂﬁiﬁmﬁmﬁﬂ e

Pdﬂlimz'iﬁﬂ'ﬂ?ﬁﬁtl

() 34 (B) $F

() TTe (D) ¥ -
—C o

19
(A) 39 (B) 37
(€ 31 (D) 35

Wmﬂ"kﬂuﬂimﬂ
(A) o e

(B) T Wi T8

() PR

(D) ZaTE FOE

3o. FE |
23,26,30.33.2

al.

1°%4




LI €

o

Environmental enteropathy affects
(A) Respiratory system (B) Spleen
(C) Intestine (D) Liver

3. The electrolyte of mercury cell ig g paste of
(A) HgO and Carbon  (B) KOH ang HgO
(C) NaOH and HgO (D) KOH and zno

4. Who 1s the present “Permanent
Representative and Ambassador of
India to the United Nations” ?

(A) Nirupam Sen

(B) Sneha Dubey

(C) Devyani Khobragade
{D) None of the above

5. Which of the following is a macroeconomic

variable ?
0

(A) Price of a good

(B) Firm output

(C) Individual demand
(D) Aggregate demand

36. Charles Horton Cooley coined the term

‘Primary Group’ in his book

‘Social Organisation’ in the year

(A) 1908 (B) 1909
(C) 1906 (D) 1907
37. Which ofthe following is not a member ated
Nations Human Rights Council {U}l‘ 42
(A) France (B) Chu
(C) USA (D) Pakistan

38. Biogas do not generate the gas
(B) Hydrogen
(D) Carbon dioxide

(A) Nitrogen
(C) Methane

39.  The heating element of an electric iron is made
up of
40 (A) Aluminium

(B) Iron
'_t}' % (©) Copper

(D) Nichrome

Ornithology : Birds :: Cardiology : ?

(A) Heart (B) Brain
(C) Kidney (D) Bones
> The maximum number of elected members
In Lok Sabha is
() 545 (B) 238
(©) 543 o) 542
M8 4 B « L L, \
T BV

cMMS - S5

2. Wiy siafgh sgnf Tl e |

(A) vage gorreft -

o iy
33, o - \ & T

(A) Hgﬂa?hga (B) KOHﬁmhggg

(C) NaOH 3l fig0~ (D) KOH 32D W
4. 2 3 g g o AT

mym%{

(&) Fem s

(B) werga

(C) Z=arh

(D) 37t § & RS el

frefag A g FA-a R

A) 19.::;1

(B) 1909
(C) /1806 (D) 1907

a7 ﬁﬂaﬂm —g1 FA15EE AW THA TSLH,
Frf (.00 I ) T T AN 7
(A) FTE (B)
(C) 3TW.T. (D) ferEaT
38, amiE T Iea el Ll |
(A) TG (B) EREIH
(c) # (D) Tl SEATFaEE
39, U@ faga SAE 1 FoH a6  HIEATEAR |
(A) Tephfm (B) @rer
() @l (D) ATgsHm™
a0, veh FEe vt - g fagm - 7
(A) & (B) wftws
() T (D) &fgaf
4, Wﬁhﬁamﬁaﬁmm
7t?
(A) 545 (B) 238
(c) 543 (D) 542

Cf;’E)ownIoaded from www.cclchapter.com
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47.

e cX nfﬁﬂiﬂ Chmrpcrsun of the Mﬂnctm.y
icy

uty Governor of RBI

Dep
I;; Gavcrnur of RBI
€ Finance Minister
None of the above

(D)

AD array of roles attached to a particular

status weul

) Role performance (B) Role set

(C) Role conflict (D) Role strain

Find the odd one out :

2, 3,5, 7,11, 13, 17

A7 (B) 13

(C) 2 (D) 11

The magnitude of earthquake is measured

through

(A) Barograph (B) Richter scale
(D) Gutman scale

(C) geismograph
Jex weather system that appears

43.

43.

45.

\\

The comp
once every three to seven ycars, ringing
dr t, floods and other weather extre”
10 different parts of the wor |
(A) La-ninja (B) m-gi*
(C) El-Nino (D) El-#
maintained by &r individual ?’llw mi“mpic
entries of nNEws on some i  houghts
description of € '
T:f ;?:gm' (B) chﬁ;“"
(C) web page (D) ™€

g the cumbre 48.

i time

The La Pal a Islands first U
Vléja volcano has €™ “: m;fma followiné
in 50 years. i8 apartof
(A) Italy I:D] Epim . s
(C) Cuba ' ﬂ;ﬁsﬂwrw
Data collected py the ?
(A) Secondary datd
(B) Primary daté "
(C) Quantit® *: "; .

: a -

\ =

J

4
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m:ﬂﬁﬂﬁﬁtqﬁqmqﬂmg
(A) 31,37, & 39 T
(B) . af, 3k, F T
() fam =it
(D) I § & wrf 7
wﬁhmﬂgﬂ@mﬁﬂqﬁmg
(A) Wnﬂh (B) Wﬂz
() viftrem wwrd (D) i A
fiorn ®) 3 i
2, 3,57, 11,13, 17
(A) 7 (B) 13
(C) 2 (D) 11
Wﬂ!ﬂiﬁﬂmtmnﬁwﬁt?
wﬁm (B) P &
(c) feredor® (D) TR
aﬁaﬂm:«wﬂﬁnrﬂ:ﬂmaﬁﬂmw

ww.cclchapter.com
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o
E

50

51

52.

57.

7‘_—
|

what 18 the term of the elected
jves of Lok Sabha and
ha {Asaembl}f] 7
(B} 4 ycars
(D) None of the above

ﬂp:ﬂ!ﬂﬂlﬁt
vidhan Sab
(A) 6 ycars

(C) 5 years
[ water by diffusion is called

(B) Osmosis
(D) Osidosis

Movement 0
(A) Osmelosis
(C) psmokoilosis

Which of the ftrll_n::win

of Terms ol credil :
(A Collateral and documen

requirement
(B) [nterest rate
(C) The mode of repayment

(D) All the above

g consists

tation

Sleeping sickness is caused by

(A) Trypanosoma (B) Entamoeba
(C) Plasmodium (D) Paramoecium

allows you to view the

sentation file on a computer that does

have the PowerPoint installed.
(B) Print preview

pre
not

(A) Page layout
(C) Package for CD (D} None of the g
is a way of showing ’ an
pear

memory of a computer systerr
effectively larger than it really
|A) Logical memory

(B) Main memory

(C) Virtual memory "

(D) Physical memory

p_rnvidca Gradient, Texturc,
Pattern or Picture effects to the slide.

(A) Fill effects (B) Color effects
(C) Automatic (D) More colors
____ i a program or portion of a

_is program
which lies dorment until a specific part of
Program logic is activated.

A) Logic bomb (B) Worms
(€) Torjan horses (D) Virus

W

is E‘Hidfcchr;mfu: Er 11_1!? earth's land area
together ? iodiversity hotspots put
(&) 2%

[C) 609 (B) 50%

(D) 10%

51.

52.

53.

54.

57.

58.

Downloaded from www.cclchapter.coh
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i i e
(ateett) & Fraffem sfaffing
F Fre e am # 7
Al 68 (B) 4 7
(C} 5% (D) Fir % 3 29
Faeer g et 0 f o el €
() wieenfam (B) e
(C) simrmgafEE (D) FifwsEm
Freafirfis 3 & P v o6 71 wnfiel & 7
(A) Harfodes S FEATATAY] i ST
(B) =uma &
(C) it 1 =
(D) Fo0a wdt
Fmim__ gmEa@ R
(a) fdararr (B) CeaHE
(NSt )
;mmmqrﬁﬁmﬂ%ﬁh
¢ Ryerl TiaTiz FRFE AL |
(A] T TSR () fire iy
(c) Y i El. & i) v & @ & T
ﬁﬂ'ﬂl@'{ﬁi&ﬂﬂ{ﬂiﬂﬂﬁa’l
mﬁw@m!nﬁﬂmﬂwmﬁ
oyt R as i |
P
B
() Feeg A ﬂ
(D) ffeeret
______,Efr:sm’tﬁ:ml gz, bed = fam o
e A ¢ |
(a) fore A (B) FR T
(c) A (D) i Fewd
r_____@:ﬂmtmﬁsh‘mﬂmmﬂﬂﬁﬂ
@t:ﬁﬁﬁimfmﬂaﬁﬁmuﬁﬁﬁrﬂ“
fr 781 T Fe |
(a) T @ |
[c}ﬂi:[ﬁﬁ'a (D) T
wﬁﬁﬁwmﬂﬁwmﬁiﬁ‘m
a,ﬂﬁ;mwmﬁt 1
A 2% (B) 50%
6% (D) 10%




7

¥ i represented by
Awa

i -
4 = p_-l-mﬁ[ﬁl —E]thm X and ¥ are in
i

i and 1 in seconds. The [anr.-.qu._-,.-_,,,,:!If of

:;»,:-nﬁ"ﬁlm
. 6 .
o s B
@l D) 24
1 It

5 hich of l:}.m following Polysaccharide made
py plants
L Lagtose EB] Rib{mc
i€} Starch (D) Maltose

i The average of five numbers is 28] The
serage of the first two numbers is 280 and
the sverage of the last two numbersis 178.5.
What s the third number ?

4] 228 (B] 336

Ic) 488 (D] 464
i WTE UQD, SMG, QHK, ?

4 PBO (B) OBP

[C) ocp (D) OBQ

The British established three High Courts

CMMS - S5

59. URATH y= U.4cus[31—%] T ZA

o B el x ot y o # oy Ak E ) e A
srafa g

= S
© 2 o 8¢
n w
60. frferfa # @ wm-m wiearuges D g =9
M
(A) A8 (B) TEE®
(C) = (D) W2

61. uia wWEmst ® s og 2 | Teeft 21 dEmai

wa 280 ¥ 3w 3ifam 3 vt e 178.5% |
et v 7

ndia for the first time in

W Bombay, Madras, Delhi

B} Pune, Calcutta, Madras

€ Calcutta, Bombay, Madras
Dl Calcutta, Bombay, Delhi

Radha'g school bus is facing north e
the reaches her school. After starting from
Yadhgy house, it turns right tWice i
"Nt before reaching the schook Wat
dimﬁnn was the bus facing %he? it left the
$$0p in front of Radha's house ?
W South (B) West

_‘i{\m
D%. i .

e
(A) 228 (B) 336 i
(C) 488 e
EWOR TN ¢
2»62' W SMG, QHK,?
{\%‘o{: (B) OBp
g 3 (D) OBQ
63/ 3 WE H wee
s )y 7 mﬁqmmwﬁﬁﬁ
(A) TR, m3my, fmehy
(B) I, e, wamg
(C) T, ﬂl%i'qm m
(D) mﬂ'l, ﬁt&_'&m
T P
LR
W ey i TRz
gy 3
= w
P 1 fig T
(A) =l L
© (B) q%.q
9. {D] Im

v

% ‘ 1P ap‘. S FA A
\ = Dbwnfoaded from www.cclchapter.com ( 8
™

et \'\1:"
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65.

67.

68.

70,

Tl

Ms

0) ey

This question is based on the given alphabet :
ABCDEFGH [JELMNOPQRSTU

yWXYZ . ‘
alternate letter starting from B is

ry ‘
ge;:;ti from the given alphabet, which of
the following will be the tenth letter from the
oht end ?
r{fi Q (B) P
{c) G (D) D

A is older than B but younger than C.
0 is vounger than E but older than A. If C is
vnuﬁgcr than D, who is the oldest of all ?

(@) A (B E %"@F"?
() D (D) C 4

The difference of the ages of Rohit and Axar
is 12 yr. The ratio of their ages is 3 : 5. The
age of Axar is
{A) 28 yr.
(C) 32 ¥t.

(B) 30 yr.
(D) 24 yr.

Rajiv Gandhi Khel Ratna Award was

renamed as

[A) National Sport Award

(B} Bharat Khel Puraskar

(C) Major Dhyan Chand Award
(D) Pradhanmantri Khel Award
A parallelogram is cut by two &

m lines parallel to its sides. T
paralielograms thus formed

W iy By
(D] None of these

iber of

In ﬁ._ugust 2020, which of the following has
r@:cw::d clearance from UIDAL to carry out
e-KYC authentication using Aadhaar ?

[[:: :;DSL (B) NSDL

CTC (D) Info Edge
8 Iri
mﬂnﬂji: :v:;cl"l?; !HB; :L'L K P and Y are sitting
ol e e it i eond
Pposite of P, K is third left ufE. o n?t
b hT Gy and N js

5 Clweesn M
i and N 7
(C) k o 1

D) B

=10-

(A

65,

67.

70,

Downloaded from www.cclchlﬁpte%comc
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T R 3 it g7 st €
ABCpEFG LMNOPQRST
b U
e R g serd] & B @ smiw B4 T ¥ T
T et R e, 7 ad @ @ Zwal 76 @0 A
A Q (B) P %E
€ G (D) D -
ABITEIRgCATIR ID, ERBRITGAD
TR AR C, D AT, R ER T AR ?
(A) A (B) E
(C) D (D) C
Ufew 3 st &) 35 o1 sfae 12 @4 § | 3T 3
Wﬂsfma:stvmﬁanﬁaavﬁt?
{#.l'{&\ﬁ (B) 3034
©p a2 =i (D) 24 =4
e
tfa e Eeret aard | R e
femmmy
(A) Tfia gt srard
(B) T Wer qrEn
(C) #o s 37aTd
(D) yoEEEt de aETd
o e wgde ® IwEh qenedl ¥ e m
Yansdt & R wEl # e e # | s e A e
A A i e R
(A) I‘.t"c-‘.li (B) l'mcn_li
(C) (=C)? (D) %8 & = 7

a1 2020 #, Freferfas # 4 763 smawm w5 2w
wE §-Harf . (e-Kyc) wanfrrm =03 % fi
. A0, @ e it 2 2

() #.¥.m. . (B) vH.vE & 0w,

(C) FEIMAAM. (D) IwiEw

8@ M, N, B, H, T, K, P 3 v v gamam 24w
Faf R ¥Rl B, p Fad sin g zmu 2+
FrHMMTHFAAAR |y, PR a2 K B e
siadmu N, Tol kK Ffgdg
MasmNFFRiaRL?

(A) P
(C) K

B) Y
(D) B

11



(A) T FRE
(B) Gl F0F
(C) T71 FHF
(D) HF ®HH
73. Wﬂﬂnﬁﬁ!ﬂaﬁmmﬁ{mﬁaﬂj
yfaffr =g ?
(A) o, e T i =
(B) mrfz @A
(C) wh=T- FF
e (D) I & @ & AW
"’ 74. JEwﬁtmmfahsﬁ:ﬁﬁ@mH:mmaﬂ
N quwai 10w o Ra i 7 .-
(4) 3% (B) 421 .
) 2 (D) 2
3
75. & W T ) T 8 @;maﬂr&y 729
a2 wig we gt A § o et w12 1
o 7w S
(A} 294 (B) 176
() 196~ (D) 312
76. 0.8697 +0.249 +0.09+ 0.9=7
(A) 0.8964 (B) 2.1087
(C) 0.89559 (D) Tt wE
aftory &Ed ffa o 3 €
" 1% | F W
A) giferm v
(B) e ¥ & "E:\'C
] Tifera W s/
(D) aifrme wor
78. ydmAa e ____ @ §
(A) Hiehe 91| B) s
{Cl EEZIIH [Dj méﬁ'ﬂ'

z \

|1

\L



B

unt 21 letter in the English alphabet
If you ff’d and 20 letters from the beginning,
l'rl::rll‘l'il:-'r:c tter will exactly appear in the middle
:ft:I:e sequence thus formed 2
) K (B) M
(€ N (D) L
A copper wire of length 36 m and diame‘l.er
n mm is melted to form a sphere. The radius
of the sphere (in cm) is

(B) 4
(D) 3

(A) 2.5
(C) 3.5

81. The President of India can be impeached
by the Parliament under Article

(A) 52 (B) 61 E':%
(C) 54 (D) 55 =L

82. Ravish saw the advertisement of Samsung
mobile. He placed an order and it was
delivered to him 21 days after he saw it

online. He placed the order 10 days before
he received the mobile, which was Monday.
On which day of the week did Ravish see the
advertisement ?
(A) Friday

(C) Thursday

(B} Tuesday
(D) Wednesd®

83. Find the missing term of the folle

100,95, 90,85,
(A) 92 (B) 7t
75

(D) 80

i'i.ES #

84, ge!m the correct mirrgr image of the given
Bure when tl;c mirror is placed at line AR

(D)

-12"-

?gu

81.

B2,

83.

B4.
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1A) K (B) M

€ N (D) L
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(A} 2.5 (B) 4

(€ 3s (D) 3

Mttt gy o e g fre =0 ¥ @e
WUV et s wepe & 7

(A) 52 (B) 61

(C) 54 (D) 55

W e diarda w1 fgmw e | 39 dmn
HLamT Rar oi 78 38 21 Rl F g9 fe T
I AT T W | 36T Wede ST |
"0 o weRd s w1 smw R wn | Rrg B San
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(A) YEFET (B) HeEnr

(C) Team (D) quan

Frefofn Jae & ga v %ty Hifie
100,95,90,85,

(A) 92 (B) 70

(C) 75 (D) 80
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English Language
oms followed by four alternative

marked (A}, (B), {€) and (D).

;fﬂﬂlﬂgs'
= u think i1s the most

Mark the onc which yo
up;lmpna{c.

To bury the hatchet
(A} to purchase something without

discretion
(Bj toact ina suspicious manner
(C) to make peace
(D} to have found a treasure

92. Fill in the blank with appropriate form of the
verb from the alternatives given below it ;

Thesun by day and the moon by
night.

(Al Shining (B} Shined

(C} Shines (D) Shone

93. Fill in the blank with appropriate words
for cries of different creatures from the
aliernatives given below it ¢
Lambs

(A} crouk

[C) bleat

(B) buzz
(D) bray

din the blank with suitable articles from
the aternatives given below it

He slew seven at

____ blow,
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| fiht sy
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(A) M5 o 3oy
(B) 9 ) ve -
©) 53 v il
(D) vt & i =

97. W, Wi, Rt sty s
W e
(©) st
(0) et

98. fort ameit # et v ot St v ) v e R,
= T TR ¥ |
(Ay S area
(C) W T
(D) ¥ & =1d 7l

99. fRvaEiwmwmdirmd,d  w=
weea § |
(A) sFadi
(8) vl
(C) Sy




